
 

La boîte à énigmes  

solutions 
 

 

1  2  3  4  5 

A 
67 

voitures 

 

A 
30 

comprimé
s 

 

A 240 g 

 

A 
28 

macarons 

 

A 40 m 

B 
653 places 

libres 
B oui B 2 € B 

30 
macarons 

B non 

         

6  7  8  9  10 

A 4 cubes 

 

A 
Hexagone 
et cercle 

 

A 
200g 

farine et 4 
œufs 

 

A 594 et 604 

 

A 40 œufs 

B 8 faces B 
30 

boulons 
B 

150g 
farine et 3 

œufs  
B 

624,634,6
44,654, 
664,etc. 

B 8 oeufs 

         

11  12  13  14  15 

A 25 ° 

 

A  6m44 

 

A 20 boulons 

 

A 5 tasses 

 

A 
10h10 ou 

22h10 

B 16 ° B 
Elle l’a 

battu de 
45 cm 

B 48 min B 3 tasses B non 

      
   


